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[Iporpamma 1 — KaJdbKyJISTOD:

this program calculates operations based om the user input"""

def calculate{vall, val2, operation):

main calculating function
expects first variable, second wvariable, and operation in order
supports only +,-,%,/

match operation:
rg5a |+|.

n vall

1 vall

1 vall

1 vall

‘Invalid Operation

def test_calculate summation{wvall, wval2):
zssert calculatef{wvall, wal2, '+') == vall + val?, 'addition’

def test_calculate_subscription{wvall, wval2}:
assert calculatef{vall, wal2, '-')} == vall - val?, 'subtraction’

def test_calculate_multiplication{wall, vall):
assert calculatef{vall, wval2, "='} == vall * wal2, ‘multiplication

def test_calculate_division{wall, wval2):
assert calculate{vall, wal2, */'} == vall / val2, 'division’

input( )

input{ )

test_calculate_summation{a,b)
test_calculate_subscription{a,b)
test_calculate multiplication{a,b)
test_calculate_division{a,b)



https://replit.com/@fkamentsev/Calc#main.py

[Iporpamma 2 — yrajpIBaTeNb Yncia U3 AUAMa30Ha:

""'This program searches for a number im a given diapason, by eliminating half of the wariants
and then trying all others at random, storing made guesses in an array"""
ort random

tries = []
number_of_tries =

the_correct_guess = 0

def guess{min, max, number}
Main function exspects three arguments:
range in two int variables
and the number to guess also in int

L tries
number_of_tries
al the_correct_guess

f number < max - {{max - min) / 2)

current_guess = random.randint{min, {max - int{({max - min) / 2}}}

f current_guess == number:
print{
f"The number was {current_guess} and it took {number_of_tries} tries to guess it.
)
print{f"The tries were {tries}")
the correct guess = current guess

current_guess in tries:

guess{min, max, number)
tries.append{ current_guess}
number_of_tries += 1
guess{min, max, number)

current_guess = random.randint{max - int{{max - min) / 2}, max)
f current_guess == number:
print{
f"The number was {current_guess} and it took {number_of_tries} tries to guess it.
)
print{f"The tries were {tries}")
the_correct_guess = current_guess

f current_guess in tries:
guess{min, max, number)

tries.append{ current_guess)
number_of_tries += 1
guess{min, max, number)

def test_guess():
global the_correct_guess
guess(1, 1@, 5}
return the_correct_guess ==
print{test_guess{})



https://replit.com/@fkamentsev/guesser

